
https://www.pass4itsure.com/c9550-605.html
2024 Latest pass4itsure C9550-605 PDF and VCE dumps Download

 

 

 

C9550-605Q&As

IBM WebSphere Enterprise Service Bus V7.0 Integration Development

Pass IBM C9550-605 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/c9550-605.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

Latest C9550-605 Dumps | C9550-605 VCE Dumps | C9550-605 Study Guide                                1 / 3

https://www.pass4itsure.com/c9550-605.html
https://www.pass4itsure.com/c9550-605.html
https://www.pass4itsure.com/c9550-605.html


https://www.pass4itsure.com/c9550-605.html
2024 Latest pass4itsure C9550-605 PDF and VCE dumps Download

QUESTION 1

An integration developer is developing a mediation flow component to integrate PeopleSoft Enterprise. The integration
developer has identified WebSphere Adapter for PeopleSoft Enterprise for this integration. Which technology
specification is implemented by this adapter? 

A. Java EE Connector Architecture (JCA) 

B. Java EE Component Architecture (JCA) 

C. Java EE Connectivity Architecture (JCA) 

D. Java EE Communication Architecture (JCA) 

Correct Answer: A 

 

QUESTION 2

An integration developer is given a task of developing a complex integrated system involving SAP. Which is the most
appropriate integration approach? 

A. Write a custom JCA adapter. 

B. Use an appropriate technology adapter. 

C. Use an appropriate application adapter. 

D. Invoke an SAP API from the mediation flow. 

Correct Answer: A 

 

QUESTION 3

An integration developer is using Component Test Explorer Emulators to perform testing of a mediation module. Which
is the most appropriate justification for the use of Test Explorer Emulators? 

A. Use JSON assistance to emulate interface information. 

B. Use interface emulators to define a component test project. 

C. Use if interface of the emulated component is not available. 

D. Use if component not available at test time or execution of component may produce errors. 

Correct Answer: D 

 

QUESTION 4

An integration developer is developing a mediation flow and wants to stop the execution of a path in the flow. The
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developer has to choose between a Stop and a Fail mediation primitive. Which of the following is the correct option to
consider while making a choice between the two? 

A. A Stop primitive would stop the execution, throw an exception and may rollback global transactions if configured; a
Fail primitive would stop the execution and consume the message silently. 

B. A Stop primitive would stop the execution and consume the message silently; a Fail primitive would stop the
execution, throw an exception and may rollback global transactions if configured. 

C. A Stop primitive would stop the execution, throw an exception and consume the message; a Fail primitive would stop
the execution and may return the message to the downstream primitive through its output terminal if configured. 

D. A Stop primitive would stop the execution and may return the message to the downstream primitive through its output
terminal if configured; a Fail primitive would stop the execution, throw an exception and may return the message to the
downstream primitive through its output terminal if configured. 

Correct Answer: B 

 

QUESTION 5

During testing of an SCA component, an integration developer uses the administrative console to select event points for
monitoring using the Common Event Infrastructure (CEI) server. 

Which service must be enabled to capture service component event details? 

A. Diagnostic Trace service 

B. Diagnostic Logging service 

C. Component Event Monitoring service 

D. Common Base Event Browser service 

Correct Answer: D 
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